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*"v1 holds that —
1: Even according to &1°27 if 1277 7x7n1 AFTER the fact-the wpw PR
NYTA ROW ART 2 IS .
R Y 77 77 PYIT°R N20A R"awIT W70
ORW 19727 TN IR ,IVAY O"RR 70w IRWY XD W'Y XN XAwL pwwn PRT 2" "o, ..
ROW PRWIT 717 1299R K127 WARTA VAW 7 RIWO? ORT TIRIDY ,NWTIPR 91027 X017 NyRw
X777 911 197,780 73N IR KT ,WAR XWD PRI TR XX DNKR K? 127 7801 ROW 2R 730
OR 72K ,WnPn? 7m0 2P R IR 1R PRI 2RI 2 2RIAWY 277 X7 7"'0 K7 0 P52 KT
o TTXONI KT XN VAW
2: According to *"wA the mechanism by which it is 217 is?
1"2m7 holds it’s via 1192 5w DR o1

"' Why *"w1 learns this way is clear-The X3 just rejected 1w m°>w X111 secondary to the issue of 9% —
therefore in *XX ™%X 81271 the X3 is providing for the possibility of M 5w WITHOUT the problem of
hbXeink
? See:
2 Y N A7 PYITR N0 W'RIT N150IN
R2W QTR 19 172112 wIpnaw 12 R MIT 72 7ORT 11°1 72 7O RIAW ARY YT 127 7903 .O1p SXOR MIRAR kT
DTV IR PR PTRPTY IR IRD 7 AWIPY 10w ART DR WY 19RI M 2PYY DWOI9T0 MIMHY oyun 27 1N 17192
JPRWORWYY WIPRI ITAT 117 PYITR SW MIMOwn Mna
3 As we shall see ahead. We have already seen that is how he understood the case of Ny7> Xow TwIPNIY AI0P
PIN:
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TYWA TR0 IR PULITRAW IR ,ART I8N RAW 0 7977 AR NYTY KOV AWIPNIY T10p2 WIPK WOR 'D2 111K T K
N ORI ROT JIVR RAT,T° 77 W AR T°OP RDT R 97 1Y R, 120 10 ¥157Y %701 OR R2X ,7272 IR 3801w
LT WY 271 PV ARY XIT 2107 A"YR 02T PRIWN PYITRT 21,9707 R ART 1800 DWW XK L...02 PR AR
132 ("2 1"°P) NIN2°2 1PINRTI 17192 RPW DTRY P27 D RAIT 11°TAT R A"I91 LK PoY RIMIT MM aRWa? X Mt
R2W 12 73PW 1R VIR KDY LR TTT T AR 02 PaR a°aR DNt anR? »'a L7 32 1091 RO 30RT ATYRY A0 262
...... DWTIPR 7102 A%INIWD 7997 ,N101 NV
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Apparently >"w7°s Rebbe agrees:
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Whether >"w1 endorses such a 7771 or not is debatable. In the shiur on Xo5W nw7IpnIw HIvP
AR N7 we postulated that he DID explain the case thusly:

2 7Y TN 7 PR Noon V"'

YNWWI 1XON1 XAw ’|?1905 RIRT PP TP aRe 12 T7PWWI VA 722X ANART X7 - DWW RN
f99omb PR 1 M
3: 9XIX MR X1 7—means that the mMx 3 occurred PRIOR to the

PR Twvn. Here as well thexnyTn Xow AR 2 wpw 1w7p is 9.
4: In this latter case the mechanism by which Pw1T°p is 217 is D7R? 11

1192 X,

* Though of course that is speculative- others [1"1] hold that we have y191 Pw1p WITHOUT invoking
PII.
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Regardless of how we understand the 7u°w of >"w" in the various cases — it IS clear that in
the case of 772 7917 RIAW INYT 17 7223 PAR 7P 12 0% MeR— AT LEAST- the pwip is on
secondary to 192 KW DTR? 1OT.

This nvw of "W - that a PwIT°P can be 71 secondary to 1°192 XPw 07X 1°31-is not without
its problems:
1] The issue of 17192 X?W QTR? 12 1°20 PR. PYIT°R as a 7272w "27.
2 7Y 01 A7 PYITR No0R 7' ModN
12 7On XIAw Ny 790 AR5 NP 72 PXAR MY RO 770 " 22N 7R XX MR ekl
e Sﬂ’mlﬁPJ 1I0IN MITW NIOT IT TRW Y ORI IR 1192 RYW OTRY 7N PORA HW R WY1 ARM

The 1"2m7 provides a number of approaches to deal with this issue:
83 T1my v% A7 1P9I7 noon 1"ana T
TXTNIWA RPIT PIDA RPW QTR PIT AR 27 JDVAY RID ANT N0 PRV MR 0T DY 17 72°TWwD
JTXONIW 5"YR 1192 XOW QTRY 17 1AM PR 72I02W 727 DoW A0 ANR AT H9m KD X AR ynwwd
IRARY VAR XD 127 T30 RAW PWRIT TR 1AV (2 5" PYITR) 1NRT R 2 XOWPT RO
W AN MDD IRWA 72 27007 RITW 17 X7 20 1192 X2W OTR? 12 1720 PR 27 001 7801 DN
712 X RITW 1100w 19 7197 72 X7 OR 70 10K 7" 0 MKW N W, PN117P2 110K KW
TV 12 AR 9137 7197 TR D191 DAR 02 TARY TR0 80 OPYAY XYTA 7MW K9X B9 X0 Mot
TN X1 RIIW PIW 9 PIT T IARY AT TR CIN I MRWA 92AR ,7IXIT LR MR ANE 72PN KW
T TRY L2 7R MIYAY 027 RIAW 01972 XN RAW PRITRA YRR 797971 ,NI0T XOX AR 720
X1 78I T3 01 PR XYY 1T 0T X9R IMMRR) YT K9R QTR 1 a0 PR awhw orbd
7129 ,7°M21P2 T0KR® 1772 2V AWK XY ORI 72V RP TIXAT D02 2whn 32M217P2 10K T XD
AR XN RAW TIORY 77 17,2 RT3 MART 20 127 DWW 2R W L e v axon ox
QTR 12 MOX ('R R"D PWITR) 10WAKRTI X7 IN2W 722 702 KIP RANON ITPRT R AT QYL 107
TR T P20 RPT NXPRA 1Y 2302 RIW D"YR 72907 ,77¥17 PR 11992 AR DUTANY TV N2 ROVW
XN IR N7 MY 707 R 7307 XDNON

3 Leammna a peaTp is annnaw 127!
% See also 7"2m7- MARA- T "7 7™ 0TI A" T PO
7 Another reason to view WP as a i2mAWw N27:
R TV T A7 PWITR N20M X" awd WITn
Y 9% WORY 17 IR T AWR RANDW R MIOT RO 1102 ROW QIR 1707 XM RIPIYA TR 2 792 09 RiTan mn...
772012 223 ('R 7"0) D"YX P02 JIWARTIY 2NN 1777 1277 RY K12 TART 720 927 777 RiP1 NN RAWT X7 10217 ROAT
52 RTART 717D 92 0K AT 2WR NPINK 2°01 27 777 11I0R XY Y1977 K2 P2 0277 K2 PAT 02 NW DY T2 DR
W VA2 IDION W INH TIRW 1097 ART X277 XY LA DY 79 WA Y XA RY ORT RI7OIRW DRI 071370 RD 0NN
.2"12,7°M21P2 10X ANRW TV 22T 19I0 MR WPI0A ANRY T PRI DR WONAY YO QW WROWH ANRY
¥ Le. since 131 doesn’t work 37v2- therefore anything “HE ACCEPTS” can be viewed SUBJECTIVELY as
a mor!
? Ie. we judge m>ar or 11 on an OBJECTIVE standard — the “measure” is not —“is this COMPLETELY a
m>1 ?” (as then a subjective standard would need to be invoked) rather “ESSENTIALY is this phenomenon
an objective M31?”- even if some elements of 72117 exist.
19 passive acceptance (no Axn» ) seems insufficient — rather the 791 must EXPRESS nixani . Remember:
2 7MY I A7 PYITR Noon A" v 1"
TIXMY N2 DR ROWAY 7317 OTR DIW 05H XYY 1IOAT WY RIOR 2177 RN PUITR N2 18T RAON O LLLIDTRW XM
MOTIPRY *5Y PYITR 1T K2 A¥IN1 K2 R YWY IRT IINIT RAYY 173°21 1°392 K7W OTRY 1IN K77 9101 729y Ko7
POWA RPIT 171 AWK YW 23771 12 RIT NIDTT NVIR 223 TXINIW 22 22X 02727 037 NI AR RO OW NN
...... M0 52 QTR 17 P°O7 PRW IR KT 0 79778 71K 1PV MR 92N 19 NRD AR 9"YRY 7YY nywa
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2] Thejpra °" Moo brings up a more FUNDAMENTAL problem with the 70w of >"wn
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Thejpra > is making a fundamental point — 12192 R>w 07X? 191 CANNOT create a n12r of
a Pw1Tp ONLY mmow with its 197 of “anmd”can.'!

The key to understanding the 717737 of the P17°11 between mim%w and 1721, according to the
117 9", lies in the words of the myn ya1p—

W 12°0 - MY 1R 190
2. mimbw 2n 1w w7 axn (6

MHWA IR 10 DWR WA DR PRT W2 W2 10,0090 awynn PR Mmows X727 8% (R
MMoWwa 130 ,MmYw 8K Wi 9137 83°7 (2 .09 892190 1PRW 927 701 TN PRT 100D
X9 MY X937 PRI IR .AwaT P9y nawn mwyea Ranw vk X0 MmowaT 070y 1T
X177 ,7°0W WY RITWIT ROX NN XY PT7 NA D05 107 10 W 2000 X1TT L5900 awvnn oo
LW M2 10

Similarly see:

19 1A20 N1 11pyee "3° *&19n

"' As an aside — The first section of the 1p177 *" Moo basically learns our X310 according to the same as the
7">9 in 7728 NYTY ROW AwIPNIw 73R, In our case as well the 7" continues to offer an alternative vw» to that
of "M .

2 Y AN A7 PRITR NO0A 70 MvoN

IIRTD Y1912 PUNTR 72 MM vawwd 120 PRwN WKL MR m"? A% YOI 112 90P ART XN MXNR A l7abrRi7A B

23R 71¥T2 KA XY P2 PRAY PR 1DTWT XD AR %02
If we recall, the 7" understood the case of 7°aK NYT? XYW AWIPNIY 710 as involving a VALID PunTp nwyn
performed by the m1vp with the 28 only providing ny7. That ny7 was 723071- XMl [passive acceptance] in
nature and therefore the model of ny7n X7W - being effective ¥191% might be plausible.

2 7RY TR A7 PRITR N00A 7'M MDoIN
nYTo ROW TWIPNIW 730P KW IR WART RIK...13 77X A1R IR 10K AR NYVTY KO IWIPNIW 7I0R IMNR
IR '¥INT RAW WIAD W 1TWT 1173 2720 DRI 217 190 KT 0D AR I TWT AYRY 717X AR IR 190K AR

PYITR 1T AT W12 AR 8X7N1 19K 11 YR 1222 NYWAT D270 70213 AR YAwwI 38017 11901 yauwd
...... ¥IORY PYITR 17 MM aMnT WD 791 yon?
The 7" has succeeded in setting up a parallel case by the 12 — The ax [of the 2] performs a valid
PYYTP nwyn with the 7w and the ax provides the ACTIVE ny7 needed for mbon of the pw17p. All that is
needed now is the 712073- Xmi3 of the 12 — at least according to X 2.
X1°27 and X291y disagree in 1°7- not just in the R1TX [ i.e. are we wwn for »1¥*7 or not], as the 7" points out
in both cases:

2 Y a1 97 PYITR N20n 11 MooIn
SW PRI AN 127 X2 KDY 2RI PXN2 KD Y7977 RN ORDIKR AR KT D HRINWI 277 K2 020 RDT W WK w102
VTR DA P RDW 117 .0170 VI 1R Pwoy

2 TAY T2 Q7 YT N20n 7" M1voIn
QW T 77 X YT RD PVITRA NP2P DYWAR 1190 X AT VI 32 YARWI WAV PR A¥INIw 5"YR 920 RO ..
71279X 1R IRM 120K 11X QW 77 ROW 101 VWA ANIR AR 1R 1V ROR 2RI 7Y Y7977 1277 77217 100K XY
The 7" is basically following the view of P17 *"2 n1901N0
12 See similarly -m 1 P79 1 Ww W Mww
13 Not »w! = momna.
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mm9w provides “ACTIVE M?¥2” = n> n1von —Authority Transfer =wnn 0¥9ya ny7 =
Acting on the “Authority of” the mown- mono AND additionally 7wyni non»ni-

attribution of the ACTUAL nwyn to the nown .

101 - even if viewed as a “form” of MM oW = nHwni ¥ Nawn awyn RANW - it provides
morni of the mwyna nxxn ONLY'™. It creates m5y2 ONLY in the sense of PASSIVE
momni = de facto ownership or possession i.e. the yo11 is considered to be N9v22 or MW"

of the 127 = a X¥on of 2°%v2 nVT.

Let us recall “our” model of mm>w.

' And this is certainly true for those who hold it is not mm9w Pn.

NIBOYT "0V 0w Y 1A
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TP 91, MITPPW 127 O¥ 0052 NOWRIW P KIT NITPOW CIanT X1 73T 713N MTLw 0797 R
RN2°7 19XRW 111,MMHW:I 127 DY 229V R OWT 3100 PUITRY PYINA R ML YWY 1970
IRW NIXNA D71.0277 ZY 229V K2 RITW 7R MIANAY 2127 1WRWIT Mnhwa RNYY *R1N2 RN°HT

e »7h ovhva

]'II'HJJ — Empowerment =NidNo

* N> N1'on

* NI'7N oriented
* Provides NVT {in the sense of “Capacity to effect a status transformation” = ni7n}
. N'"7Y requires NYT but not necessarily “Affinity” to the N'7WN -can

possibly be created with even an “indeterminate” '12'N
Acting on the “Authority of”’ the n%wn

AND [Subordinately]

n"w: — Instrumental Representation

* NND"AN NT' - - Extension-Tool-Arrow-Robot”

. NYYn oriented — Mo ni1 of the ACTUAL nwyn to the nywn [close to
the idea of nin7ann]

* Provides N1I1D orNnNDON NOT NVYT ({in the sense of NI'7N —creating ability}

° N'"7Y doesn’t necessarily require NYT but may require “Affinity” to the

N7WN and a definite '12'N.
Which aspect of mm*5w is needed for w11°p m>n that 1271 is unable to provide?

We could say that- ¥"13%- Pw17°p is not an ordinary 1°1p -1 REQUIRES “ 7973 X171
TR OR2 7P 0127 exew”!® —an expression of active mbya = mano that is ny7 of the
52 himself.

This then may explain the np12rn between >"w and *" on the issue of w1 T°p2 7°27.

They argue concerning the nature of 7719557,
Of the 3 options offered by the n¥p for underpinning the 17 of 7°o1:
....... W IRWY 120K (R)-12 12°0 [ MIgp
...72W 3°% 702V 2730 1R 17 R NITT 127 X3 Mo P 1o17[ 1
..M DINA XY 1IMR T2 DN P17 1KY ONWRIT 8D NVT AIAT IWORT IR 1351[2
XT°W 21027 NTAT RO ,ﬂ’z?W IRWYT >730 12K 21N X7 MIT°2W NNR 5277 NRT 1&?35 1970 [3
.10y o
TRIY - "W = MITRW avvn 7°°37 via an 770 IR = Mow with a PRESUMED M0 =

RITRIX .

15 Secondary to the 105 of “np> °2”.
16 “equivalent” to the " ‘s understanding of M w avvn XY 7731 -see ahead.
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2 7MY Y AT YA No0K M"Y

WY QTR PR 0192 17192 ROR DTRY 17217 7RI 172 02w TNIRY 17 23M 70977 PRA M N20P7 -
MINRY PINNR2 2T OV 209D 1127 1°1920 119077 1POW RITIRWY 2"RK 170 DY 7091 N1TR 0TRD 1w
72V7 X7 NIOT 2N20PT DWW TPOW AV IRWY KOW D" ARY AT 7O 1001wn AR 197 1R MWt
2972 WMDY R N7 3°7 RMIT7 9740 1IKT 1°192 R2W OTR? 12 1991 MPA? 127 DN RYPW

X TIMY 2> 77 RY¥A K22 2"0M

, 79907 ,0M2W RONW 7°2 R°27 2700 1IRTLINYTA X2W - 17192 R2W Q787 12 1997 12 X7 NIDTT 7307 )
IMRWT 9277 92 ,AMhwn AN A9 PI9°N 17 7910 A1PKRT 370 MMTY RIHT X0 732 000 0
DIWA NI XPDI RDT 723 7°N09 92 XXM 22X ,17°A1,1°302 X9OW 19 71917 911 17XA 102 ROW 2 91
X?Y W NPT RY R X0 LR ,OW NYVT IR AW DYT XX MITOW 2237 ,NIT0wWn 270 RO
MR 7372 DR NYT 10V 990,100 T

As explained by the r93, this “>770 11X view of MW avwn 7721 -MOST closely
parallels regular mn>Hw.

SN wpw pere nmon ONA

EYTP 91D 37 30 vIp> 1 d3 YD (4
wapg oEh99 pe NP3 Ao e

cy prh3T o1 b3 wapY Mo pidp oren b
;7 oD H% pipds oepn o1 Mo NHaD W
b oh o1 e N3 W ppd £ Bih
pANERd 1995 1H 3 13T wd Opda 9P
pItET DEIDD 93 perdc 7 owe SRy plp
b3 65 1P Lop1IDY OB PPN 0D DINYD
DWSE 7 Y3 2p) 9MPT P pde o A
oh1 P> p7on et epd Pl Lerp pirlc
pERDIE 1Bp 2*H 2EID3E PP 111 b Ao Inhs
anbaoh Y36 3113 o3 AR Bhen pwip
porby H%1 (o Jop 5*h PIhH pde b M
pEsacs 95 1 3B PR 73 REY ) Ptk
amd Sovp %% b mpd ™37 b pasod v

b3 1o pwd ' H3 Inh 1pihs

While >"7 holds that 7°7- working via momn°ni of the 7wyni nk¥in ONLY -cannot
effectuate w1 7p. 701 is NOT mmow ovvn . It is PASSIVE moneni - Xxon of 0°%va nvT
cannot provide the level of m%va needed for w17p.

What, in fact, is the 0w of >"w1 in 1217?

Does he hold mm 2w oyvn 72071 via an >770 18 = now with a PRESUMED "0 =
RITAIN
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Realize that maintaining that "1 holds that 121 IS "mm»w ovun will help answer up
the following problem:
X TIAY T A7 PR N20nA °2323 70N
1P RP 7O RDY 00 X K27 A"V AR IRD C1VID 72V 0110 TAV 1PTR DWTIPR - 21997 SWIpNm mIn 7900
RNMOR OR7T? 72 03P R 770 R?) 07 XP X27 A"YR 901 X023 K7, 7w
X TIAY T A7 WP N20n *"wA
LRI IWR DWW IRD R1ANT ANYRY - 27PN TWIRRY ROR MW RN - 900 wpnT i 7007
TPTID DONRW 2°I0R 'Y (032 WXV DR 1P (222 A7) /PWITR/ 1R PaNna 10T - v 728 7Y
ST RIVAR ORI PR 00 ROT AMYRY MITPAD XX IAZY 739 R0 1002 IR
As the X"2w" points out -""w1 here seems to REJECT the idea that a 1°217°p can be
effectuated thru 1751 with a subsequent nyxana!!!'®

X TIMY T A7 YR N0 R"awn TR
AR 0w MY ROR 190 IRWYY X171 O"WI0Y V1D TV PIR DWTIPR C1900 SWIRnm man 100
IR RAT XOIPOR KD R PWITR DYWAT DIWA 71027 %703 12°0R) NWTIRA AR 1790 WY XD ORW
MEIR KRPTY (2 7"R) WP WORA 2792 1PR PART KM 972 RAPOYA XN RY X7 LY XWX
220w B "D 191, 9MRP R Y RITIT TPAYT 9N RAPOYA TP XN
If >"wA holds that 121 is mmbw avon then MY X3M° MAY mean a m*>w of 7731, The
w171 of the X713 lies not in the idea that 127 can work for w1 7P BUT? rather “ XX
own awIRpAY” = X1 mown YW R, X11mnT that the 7o of the 5w NOT the mhwn can be used
to create the N> of the PwiTp.!
But see->"w1 may hold that %27 is now avwn BUT NOT via >770 7X:

7R 120 [N MEp

DTRY ,2207ARY 2w 2P 1Yk 0910 M L,(R ) RYEAT P50 D LR IRWY 19708 (R)
REAN MR 7"V 1UWONY ROV TV 27P7 X2 1OV IART WOW 0 922w 17020 1A 0910 1PORM XA
IR IRWY K7W INRA 19X? 2 YOI N1A? 7713 93 IR?T MI2IN2 IMRTI 13p X7 ,[N91 2n] a7 09I
223 (2,79 M2IN2) 2M37 P9 2w (990 11"7) ' W 122 YaR .2"Y 2 ownh mhw v
WY 12°0K 11"'v2% 091077 ,7"N (091077 77 2"Y) K" A7 [1°0°37] 252 '0IN2 1O¥Y W 12 12T RTAW
WY KD 129DRT -P12°7 PRT ,7IP XDy 991397 mOw WwyaT n'"a7 p'oa wnT 2"wnd K77 N0 0w
0°771) 27INT 1°2 PR P91 (2" Ow) KYOXNT P52 12IMTI RINT MIMOW avun 30017 K17 IMPW 10w

17 Whether via *7710 13X or not.
'8 Something we postulated °¥% to be acceptable to >"wA -and this case certainly conforms to the parameters
of 11. See also:
X TIAY T 97 PVITR NJ0N YWIT 010
NPX TMYW 1R OR 122087 202 [ 12°0] "1 WK AW IWTRRY XX IMOW X171 " WA01 o099 CWIpNmM man 7200 ow
SWIPNA 2 MR N3 [2"27 MW R 2an 7"0] ' 0" anam 12y Cnvo 7 101w 7an2 Y SWIPNT 7102 WIPHT AR
TR 097 RPN KD ORT 0PI 17010 RIO KRR MR TOW IRWYW RP17 K2 721 9" 2" w7 ORI 09932 2 X827 ORIT2
R2W 275K 220K "'V IMRT A7 ROX (R"Y 3" A7) 1P2 827 PIR RIT MR MIP2W NINA IR? 2N 8T °WI0 7290 709
7 701 X927 A"YR 03 2702 2PT PV 117 21VID TaVH KM IR0V 11199971 ,12 9173 121 1727 21w 7aVT7 NV
TIM02 POYY Y ARII 12,1199 INIW 73R 07 SWIPNT "R MR OX MO IRWY RY 17ORT K700
1 Apparently X"2w1 understood that *"wA does not understand the case of aK NYT> XYW TWIPNIY IR as
operating with 131.
20 And this is P17 in *"wA.
; Why this should matter is a topic in and of itself-7"2x.
See:

R 7Y ° 07 RY°¥M X322 Noon *22a 7inbn
...TIP R - 2NRY 20w 21pn2 230 H¥ah 09I ,20NRY 20w 21pn2 20 Hyab 090 ..
3 But, according to *"w, IF he was appointed a formal m5w then mp — but 131 presumably CAN’T operate
here.
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7"7 K"Y) K™ 77 M2no7 P92 2" MTOW 1T A°ITT 21207 2NYw? '0INT DInk L9y (2,17
P"5 WK1 3" X mhw % TavT 2700 1K 12 K17 MITT 10T R MR IR IIIT L2 (P
(P"2) MRYEA R PO RAT,ZMMOw 17 91 ’°1 PRT 22012 Nwpnl 120 DIk (3" D) 10T
WIRY 27 1 RNWT WRMH Y70 937 11°0 120 K27 ,NYT KOW WIR'D K2 IART X902 (R"Y) 22 77
37,7170 NN DYTA XOW DTN 1NAR TR0 VAW RN 79V 100R) VT XD R XNDWT D20 AR
NN XY ORI 71N ANAIN PR 9T 2WH W OR MWI2 XYW 20N 0P 91 17020 ATY 0D 70w
OR M9 DX 72317 MR IREAY 2"V RAW 07 ,IRD ORI D13 W WWAN OR YT XIT 101 ,0m100
SRR 721N NN TR NID IRRAD 91,7310 NN PR IRD ORI 72170 NN 1A NIDY IRYAI
NYTA KW WIRY WART 22R?T 02101 PO IRWYA 2ART ROK K27 X130 ,V7° 707 RY X7 2907 XIT°Y2
2Ty X9 R XOWE "0 TR XTI YT 2097 AMUR IPDW 21T KD A1 NVTA XOW MMRW WIRY M1 XY
129081 ,NITOW NYINA K21 1IMR T NNNM 737277 1IARY DNWRIT 723 NVT 14T IWORT IR 197
IARY 72T RTW 2IN377 NPTAT ROX O IRWYT 2770 1R 2WR IRD NITPOW DYIND 7217 RT IR
DWW X2 22K ,MIMHW 13 KOR WAn 793 M7 8 7997 77 92K, 25700 woRn (R ,20 PwITR) 979713 10
,DITP2W NN XX IR 79917 11°0 7797 NN 790 XDT 2101 TIV? 7970 KPON MO0 IRWYT 2790 AR
D2 IRWY RHT A"YRT 21007 N1 197 ROR 22p1n7 172w (3) 113 217 700 1R NN IR 2w PaN
2"y (' -1"po) i Ao [3"m] (2"77) 12°02 12 109X 7201 ,7007 PR 21N YT RY RAT 1OW
17T 79972 N7 NPT TR ROR YT KD RIT 22p00 100w 1 RDT 0w IRWY XDT ROIT X3 1199
C1pn) X2 199 ,2AT5 2am A9 79T Wan T RAPI AT PR DMRY AT R 2RI M9 INWY 1D
21T I TR CIAN RYT 01 WD W WY DA 0T XDT XD MImHw I 1 1T [Pamn]
2T 2NRY 272 10w 991 07T 207 A"YR ININD 2R SW WY Mnhw nnn 9"y

One of MdoIN‘s strongest questions on "1 derived from the case of Ywn 72 M
2 7MY 79 77 112102 N2oR Y222 TIMoN
DIR 77727771 77090 27 oMW DR LRIR POV 200w ,RX023 RITII2 0TI 7702 PP0R M W 02 e
TARY ,0°IRY 27w 2PRa 1'12% 091N DR PY 1R L,VWIT 277 P2 R 271 RDD 27 7°2 WD .309N
...TIP R? - DONRY 20w 21pn2 1'vad 09N I 020

"

w1 himself writes:
2 TIPY 79 77 N1AIND Noon "'wn

% But- according to the mxp — *"w" rejects this. How would the myp deal with the places that *"2"
INVOKES 7710 118 ? He would apparently explain that *"w1 is NOT trying to explain HOW 137 works
rather WHY in the given cases under discussion in v’ and »"2 we don’t view it as a case of 2 !
> Le. on mooIn.
2 We see that according to the nxp — *"w holds that 751 IS NOT mm>w ovun which is only understood
as 770 JIN.
2" THEREFORE 7770 1138~ which is a PRESUMED *1» and therefore = “nyTa Xow mmow” AND SHOULD
NOT WORK!
* See:
X 7Y 21 7 PWITR Noon 223 Tinon
L. TI9IT 0P RDY LT WOR PR AR T

But see:
X 7MY 21 7 PR "wa
AN X277 7230 IR 02I0PDT 21 PINRY KOX D°1TA7 7191 VAwn? XK RNTIA 19192 ROW NIOT XD 190 - K277 ROX
12 901w Phma 779 R*1 K97 RIPRT QN2 T RIPAW DMyOWw 5"YRY IR 79712 aMATYT X390 1 MWy 72 PRW M1
212 0777 ’D 7"9R

"w1 seemsto learn 717737 from here.

¥ Only by a 7w mar did the Torah institute 121, This makes sense the Torah would not institute a Torah
based form of Mn>9w as a vehicle for one person to help another UNLESS it did not harm others!

3% L.esmr — which IS under the rubric of mm*>w [but not a FORMAL nimow ] can’t be applied — it doesn’t
operate when 0°nX? 2n. Formal mn»w can’t operate either —unless an actual "1 occurs- because it would
be “nyTn Kow Mow”.
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DP»2 .2 Hva TNED M2 YW RuRun 09105 19w - 207 Pv2% 097 0N T o mRwh e - 9N
T DR MY 070 AT 2109 1773913 D RDT - 722 82.100°002 20K 1 Y9V 700N - 208D 7w
See:

2 :7R 1070 D°TIR’2 VOWRT NN

Mo WwoR RY L[R"Y 2" aw verTna] 3199397 avon LK1 M 12T 2 P Y
a1 IW PIRnT YA KD a0 A mna Hva bw mhw awy[a] 3" Xox Mmhw nmnn 10ans
MMYW 17 K2 10An27 202w 1"I7 9V "wp a7R2 7377 ,°""W 0127 OW IR 109 L L. e
SRAR DPRY 2 RY PR 1N HYAS 09102 "R ,MITOW avvn 1T 90T IRD? 1N DYa X2
.99 1ana 2y pon K2 1907 100,50 Dy L mnn Hya kDA 11nna mmow 1an KD KT,
T2 MW KXY XD 09IN7 2w 70°0N02 231, MR 2IPRn MPNwR? Y 09 ML 723wn RiTw 11
5Y2 59 1192 KDY, Mvw 29R5 0910w P71 ,°300K T P907 PUTV M9 702 MW RIT 0
2"05"WI7 7172 MOW IRWYT "W 202 1OW 1091 1m0 PY2 Mwan ROXINW 2Ipna PO Penn
DDIN P22 TOW K NN HYa X2 MW 0172 RDT 10 QYo 100NKRY 2T 2102 197K Inn MmowT
09IN2 *N2ANIW QYLA PO MY AW TV DU KOW PIvh 1an A pon XY mvaT 10,2 Hyad
523 2"RWH ,MITRW 23T AR L1 DY RIP1 RDT ORTY NRT TI9A01 ,000K 20 KW 2pn2
N2NDW ¥AD TN DY K92 03T RDY AN 9V RIOKR AROENAT  NITOW 0300 K27 O"WT 770, AR08
w7 7R awp X2 ,[2"y 7"'0] 1121022 W 12 07 XaA [K"PO] 202102 AwRaw an ox L...2%YY
230 HY27 7AW 10N 19°3972 8317 70900 "Y1 2 DY 27avnwn XY AN T 2202017 7R 2002
...Dang Pya RD2 MITRWw cama KDY L1MNT VA 27907 N0 10w L 1IN 2Ya v XX

Formal mm*5w requires “ACTIVE M2¥2”-mano —the ability for > n1vom,751 doesn’t.
But for 7727 to operate a 71713 N127 must be present.

Perhaps then >"wA holds that 7721 is somehow within the rubric of mm%w BUT not with a
presumed 1197 rather it is a ‘111 —less” mmow — the Torah forgoes the need for non
nd - “Active m?v2” — therefore “Passive m>?v2” and MERE momn°ni of the XN is all that
occurs LIKE we postulated for thejpri °"2 ONLY °"wn differs in that this mon°ni of the
7RXN is sufficient to effectuate w1 7P —similar to any other 112 OR perhaps " feels
that *>nimSw nMnn 31 means that though 15 Non - “Active m9va” is lacking YET
0°%¥2 - RN 77 IS provided and 17192 X5W 07X? 1°27 can achieve this level of “inm>” and

create a state of “TWNRT 072 AIPPW 20127 XWX X

What, in fact, is the qvwof the 1217 °" in 777217
X 71V X° 97 M2 N20A NI1DVIN
1R 12 RIT NIDTT 11°DT NYTPOW QLR M 03T KT 72201 - R MITT 21wn 72 DYT 9V IR 1720a0n
O"RY MIPHWR YA K2 ORIINOKR T DA T80 023 (120 A7) 1"27 "D MOMATY MW %9 7avT 2700
X177 0°2210 721 "NIRT TV (CRY QW) W1 IR JPIARTI JURPD? MDY PR RO J0R7 1I1 IR0
12998 MIMHW 9257 NR RDT 022013 72 132777 7731 7399 DR MW 593% SnRT 10pT ann vnR)
712777 791 79 IOK JUPT QN PIMRTD 712777 19 PIIT M1 RIT

772 A8 7°% MY 112777 70T
D PRT MM 2XAT KM 132777 073 RPY2 DX R 70007 (GRY A7) 1'22 13°0737 2290 091 ...

31 = the .

32 Who has the manv to create mmow.

33 = the 1" x‘s concept of 7°31 as MW NN K.

3% Using the language of our previous shiurim on mm%w — an “independently functioning Track B mmow”.

That is, by 7221 one can never access “Track A”[12 nvon - m9va] of mmow YET in order to allow us to

E’Seneﬁt another Jew — the Torah allows “Track B”0°2¥2 - Xn2>X 77> type Mmow — to operate independently.
=PI M
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QvLA "7 770717 AMYRY JUR PR Y 11°AWR POANTY K27 117D J0P 092213 7AW 7INT 30 17007
IPRW 9 WD RN NN MIOTW RO AR, NEP 12 WO 0272 2" ATINA 1 MImow R PR M

SRIDY 15 35 110 MO Noon jgininin]

PEBID HD A0 BIDY YT In MY @
npy PINYE Bron "7 b H1 P
INDD DPIMT PN DIEI LD amb noT

qb PSS b H'H INBD 257 PIDNE PEID3T
pondy p oM 73t o Hidy Oed 653
PISF W P31 M3 M '3 PV PHY IF PmED
5D DNES DEIED 250 32 PENPT T M2

Jo3m Bih why 578

pode orpn nor mbhT D wEd M YAR
PIDBED P13 PETMDN DCW MO o7
sepn 16Y A ' pts ErEn M3 D PUnd
DETIDD PYDVE T ONMDD 2ZT0T H33 Md mmie
agad onh AT ADD MpNE Bepn A HY
P pphon Dnh DT MBNED PI3 PETID
orpn 165 A3 WH d3h OHNEDI MIDNED PEP
55 pang 90 DETIND LI HIT MDD P
not Wb nEH DB MDD 1071 Mt St
nat Y mfy 573 [OPT Prdd Y MDNE Brbn
D3 "D DTM DETDN DL HD DTIODT 0T
P Pp3 B pb modc oopn MDY o MLy
Wy M

Clearly 3p177 "1 holds that hold mm 2w aywn 73°°57 acts via an 770 138 = M7w with a

1] Perhaps, as we suggested earlier for ", the 1777 *"'7 does not mean to make a point in
“lomdus” when invoking “>770 718°*® RATHER he only means to point out that the given
case is in fact one of M2t NOT 72117. There is no 72777 of Presumed *1°n -See:

R 7MY X° 7 12102 D20 W'"RIT N190IN
QYDA X217 17192 ROW DTR? 12 1217 RAYLT A2°0 .12 K17 MTT 2wWn 72 YT 29 IR Pawn Jup 03
LLPRITRW 1072V ORNA 307 R°AT 9700 1IR 17 X377 MITT 100 MmOw
X 279 P13 Noon WK

MW RPw 95 RIPIT OTA0 TR MIMRW aYOR TN 17192 ROW DTRY 1IN ..

3% That is that n*>w avum 731 works via an 770 13% = PRESUMED "1 .

12
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2] Presumed "1 is an XITMIX of "1 NOT a wnn "1°n. It parallels other cases of

INDETERMINATE 511%.
See:

1 73R ) PP U0 NoDR awn
...... 383107 12020 19K 7 INWRS B3 21N P IR MW 9D MR M TN TR N

2 7I%Y W9 N7 29771 NO%R Haa TIRbN
M RIYOR 1ROV ORA2 INVTH PMWYA DRI PIMIN DX N......[11A0) ORIT 700 |5PR..
X7 07977 HY2T INYTY ROXR 700 7MW IRA 79997 NYTHY RPDR IRNT INYVTY 07377 Hva Sw Hy 00 Hya
17PN 797 DYAT INYTY ROPOR IRNT INVTRY 21277 D 9V 19wn ROR PMMOW T0avRT 707 CIanp
TR PR IR? ROR 7970300 R NYT IR KRR 120 50 DY 07N 190N W17 PNYTY IRD ROR 700
TMIND A1 RI7T 21N R 21N IX177 20 MR R WARTD 7377 22 DY 01977 Hya Hwn 2wh nvT
R}
R 7MY 10 A7 1PV No0R M0
12 ©7INT 1AM ARIT 7N 02 (12 97 2°7171) TINT P2 PR P92 11NRT D"YKR - 1219 v 93
RP Ri7 97977 2927 XOX 790 700 IR7 7707 ROVTY XD OX IRDT INYTY XIN32 227 10YT72 10N
XD 2377 R 03T DWW IRD 21N R 21N 7RI 92 MR 79 P PMTOY TavT 709 030
792 WMW MY 1WA K RPIT ARIT 1T PIVY XOR MMSW 11792 71037 2 1Ay e mmbw
YPIW 9 ROR 21027 7177 92 KRR K2 ROT PR WY RAW IR MTYY 12 MR ROW 1100 79 73102
A9 MWW N T TT

Analyzing both °x17°n of Mvon will perhaps help clarify the nuwof the 1217 >"9 in 77°01:

112%Y7 19 MI% XOW 1% 777 7373 T2 2Wmw MTPow 2°WR 8D XPI1T ARIT 170 PIvY XX — that is
to say -BOTH “1n”via ymwi 55 and 73177 95 create mimow. Only due to the
“indeterminateness” of BOTH these pronouncements they can only create “basic mmow”
i.e. > n7°on that is “Mn 0787 1D - centered”, where the M5y possessed over the entire
process allows for wielding that authority as the 9v2 sees fit. Yet such a »11°'n does not
create a status of “Imn3” — it cannot access MW of XN>* X 117> whose focus is mon niI of
the nwyn which requires a more clearly delineated creation of 0°7v2 status.

TWY requires ONLY the 3 nvon aspect of mmow to be »n1,*? therefore an
“indeterminate "11°» 7 is effective.

3" Though we see that the w"x1 DOES endorse this type of conceptualization in actual case of mm>w —at
least:
2 7MY ¥ 97 PU 100K W"RIT MO0IN
mmhwa 790201 720 0N TOW TN 772 1P2aMD INA 7ONwPWI NRY L.ADNWIWIH ROR 7°2MD PR MR 307 2N
O Y SNY 19K M Y RAIT OOYT VT 10T WT M KD DA PIVY RN LT

38 See also:
2 7MY ¥ 97 MAIND NO0A *233 70N
VAW 3 MR ;7122 oW TR O ANM 27°2YR ML IR 237 AR 931 .7°097 11K 177 99 IR (X172 MK,
LVARP TR D9 210 AARP 7RI ,2IND° WARP ONA LROWT 297 1130112027 19K 2 - INWRY 03 21007 191p
2 7MY ¥ 77 M2 noon 2"wA
R MW N7 PY MR KPT YR 17 2100 719307 7Y MR R2T A"YR - 11071 1200° 19K 07
AP YD aRNE WD - 210° RP o

¥ Le.mmSw is certainly operative in Both cases.
40 Assuming that vx n2'n3 doesn’t require “o*>ya” level mmHw.
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A 771 of 71X377 °97M can ONLY be violated by a %@ with the status of “0°9v2” — therefore
BOTH "1 via ymwi 93 and 73197 95 would not violate the 271,

21 19 vyWw Y P70 TT YIS 99 ROR 21027 X177 92 MKRP R? XIAT POM0 WO RAW IR —
That is, ymwi 92 is a complete 11°» that creates “full” nymbw = “Track A-m>¥2 -1 non
with a subordinate Track B-2°9va -Xn> R 77°”.7%177 95 is an “indeterminate "2°n ” that
can access “basic” Track A m°%w -n3 n°on = M>Ya ,but not create a status of “Mn3” —
Track B mmow = o°%v2. A 971 of X377 971 can ONLY be violated by a mow- if the mow
has the status of “0"v2” — therefore a "1™ via 7¥177 3 would not violate the 772.*!

727 operating via *770 71X creating a PRESUMED "112- MOST closely resembles 117
via 72117 92, Pwp REQUIRES o°%va —literally the nwyn of the 9¥2 -not just his m>ya -
mono.

The idea that the issue over which 12177 °"7 REJECTS 7*°571 as a viable method to
effectuate PwT°p is one of a 1101 in 0°9v2 -literally demanding an 72X that is viewed as
the nwyn of the ¥a —wnn NOT “merely” his m7va — is P17 in his W5 . He stresses the
101 in AWYR -“TWRT 072 TIPW 0°127 MR 700X X7 - not just the need for o2ova 1.

A 180 degree turn!

Assuming w7 and P17 "1 agree on the need for a formal amp Awyn in Brunrp - Of the
2 options offered by the mxp —following the 11”73°s understanding of 71721
mhw ovun Wo-for underpinning the 177 of 731
....... MOW IRWY 127981 (X)-1P 12°0 1m0 MXp
...°9W 799 7°2V7 2770 1R 17 R NIDTT 10T X Mm2w In a0ar7[ 1
RTW_ 21027 NTAT ROR P50 IRWYT 2770 13K 210N W?_MIMDW NING 72917 WART 187D 1770812
. NRD 7
w3 holds 1731 =210 NT°TAT ROR 100 WWYT 770 IR 2IWn W2 MmOw - that nnn 7907
*“mmow means that though ma nvon - “Active mbya” is lacking -since no »11°» exists-
YET o°%¥2 - xn>™ 77 IS provided, by Torah decree, and 1192 X% 078% 127 can achieve
the level of “anM>” and create a state of “ITWRT 072 7P Q2727 ARW X RI77°= a formal
AR vy,
1?17 2" holds that -5W 7°% 7927 770 1R 12 R NIDTT 11037 RIT MMOW 1977 71991 — with a
presumed "1 being equivalent 757777 to an indeterminate *1°n. 1192 X2W 07X 13T can
access M?y3, at some level — at the very least a X¥on of 2°%va ny7, but NOT o°%va —
RN2IR 7. 191 CANNOT achieve the level of “inn5” and create a state of © 7°7¥ X7
TWRT D2 TP 0°027 kY= a formal nmp 7wvn and hence cannot effectuate wTpR.

For a “modern” restatement of what is basically the fv*wof the 1177 °"2 —see®:

*!'In this 79 it is possible to hold that va n2’n3 does require “Track B” level mm 9w as "1°n via ymwn 93
provides this level.

2 Unless of course we understand 71"x in WP as just a verbalization of the 2°%va nyT -77noK).

# A future shiur will deal with alternatives to this assumption.

* = the na‘s concept of 7°31 as MMSW NN K.

+ Though the P17 °"1 is not cited!
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